BCIM48 PART LIST:
1. (1) BENCH TOP

4.1.
4.2.

(4) IN BENCH
(2) IN EACH LEG

2. (2) BENCH LEGS 5. (4)3/8" LOCK WASHERS
3. (2)1/4" X 3" X 9 3/4" ATTACHMENT 6. (4)3/8" WASHERS
PLATE 7. (4)3/8"X 1 1/4" BOLT
3.1. EMBEDDED IN LEGS 8. (4)3/8" PEDESTAL BOLT FOR
4. (8) EMBEDDED 3/8" INSERTS LEVELING
4-10 178" 4'-5"
_ [] (Y
L 3'-2 172 L a2 L 2'—g" L

>,

-6 11/16"

M5'-4 7/16"

PLAN

©*| AGGREGATE
7« | STANDARD

s

ELEVATION

4o | =EXPOSED- |-

2| 1p"

Il_2ll
1'-4 172"

3/8" THREADED INSERTS
FOR BOLT INSTALL.

BOTTOM PLAN

4X4 WAF

REINFORCING

SHEET NOTES: CIMARRON 48 BENCHNOTES: | SHEET TITLE: PLAN & ELEVATION
1. CONCRETE SPECIFICATIONS 1. APPROXIMATE WEIGHT .

1.1. 5000 PSI COMPRESSIVE STRENGTH @ 28 11.  260LBS PRODUCT: CIMARRON 48" BENCH

DAYS 2. CONCRETE VOLUME

12.  5%-8% ENTRAINED AIR 2.1.  0.067 CUBIC YARDS LOCATION:

13.  POLYPROPYLENE FIBER
2. REINFORCING SPECIFICATIONS CONTRACTOR:

21.  REBAR TO MEET ASTM A615, GRADE 60

22.  WELDED WIRE MESH TO MEET ASTM A1064 ARCHITECT:
3. COLOR OPTIONS AND FINISH DATE:

3.1, GREY, WHITE, & VARIOUS COHILLS COLORS .

3.2.  BENCH TOP-SMOOTH, LEGS- EXPOSED AGG } w1 n

3.3. SEALER: VOCOMP 20 SCALE: 3/4"=1"-0

SHEET NO.: 1.0



AutoCAD SHX Text
EXPOSED

AutoCAD SHX Text
AGGREGATE

AutoCAD SHX Text
STANDARD

AutoCAD SHX Text
4X4 WWF

AutoCAD SHX Text
%%UBOTTOM PLAN

AutoCAD SHX Text
3/8" THREADED INSERTS FOR BOLT INSTALL.


BCIM48 PART LIST:

4.1.

1.
2.
3.

3.1

(1) BENCH TOP

(2) BENCH LEGS

(2) 1/4" X 3" X 9 3/4" ATTACHMENT
PLATE

EMBEDDED IN LEGS

4.2.

© N o

(4) IN BENCH

(2) IN EACH LEG

(4) 3/8" LOCK WASHERS

(4) 3/8" WASHERS

(4) 3/8"X 1 1/4" BOLT

(4) 3/8" PEDESTAL BOLT FOR

4. (8) EMBEDDED 3/8" INSERTS LEVELING
| |/2'ﬁ| 12"
o5 12 siot
o @ ~ "
i I #3x8
| 5/8%I 1/2* SLOT
0’\ BENCH TOP
R I/4x3X0'-a 3/4" WASH 3/8" THREADED INSERTS
PLAN NEEDED
" U [ 1T
=4 B 1axax0'-a 3/4° a3 1 1/4X3X0'-9 3/4* 3/8" BOLT [ LEG PLATE
5/8'XI 1/2' SLOT T 5/8'XI 1/2* SLOT || —— PLATE REBAR
#3x8 #axe d — BENCH LEG
3/8" THREADED INSERT
T e LeveLinG
ELEVATION SIDE ELEVATION _—_L/—

ATTACHMENT PLATES

PEDESTAL (PROVIDED)

LEVELING DETAIL

SHEET NOTES:
1. CONCRETE SPECIFICATIONS

1.1.

1.2.
1.3.

5000 PSI COMPRESSIVE STRENGTH @ 28
DAYS

5%-8% ENTRAINED AIR
POLYPROPYLENE FIBER

2. REINFORCING SPECIFICATIONS

2.1.
2.2.

REBAR TO MEET ASTM A615, GRADE 60
WELDED WIRE MESH TO MEET ASTM A1064

3. COLOR OPTIONS AND FINISH

3.1.
3.2
3.3.

GREY, WHITE, & VARIOUS COHILLS COLORS
BENCH TOP-SMOOTH, LEGS- EXPOSED AGG
SEALER: VOCOMP 20

CIMARRON 48 BENCH NOTES:

SHEET TITLE: INSTALL DETAILS

1.  APPROXIMATE WEIGHT

1.1. 260 LBS
2. CONCRETE VOLUME

PRODUCT: CIMARRON 48" BENCH

2.1. 0.067 CUBIC YARDS

LOCATION:

CONTRACTOR:

ARCHITECT:

DATE:

SCALE: 3/4"=1'-0"

SHEET NO.: 2.0



AutoCAD SHX Text
5/8"X1 1/2" SLOT

AutoCAD SHX Text
5/8"X1 1/2" SLOT

AutoCAD SHX Text
#3X8"

AutoCAD SHX Text
#3X8"

AutoCAD SHX Text
5/8"X1 1/2" SLOT

AutoCAD SHX Text
#3X8"

AutoCAD SHX Text
P 1/4X3X0'-9 3/4"

AutoCAD SHX Text
L

AutoCAD SHX Text
P 1/4X3X0'-9 3/4"

AutoCAD SHX Text
L

AutoCAD SHX Text
%%UPLAN

AutoCAD SHX Text
%%UELEVATION

AutoCAD SHX Text
%%USIDE ELEVATION

AutoCAD SHX Text
5/8"X1 1/2" SLOT

AutoCAD SHX Text
#3X8"

AutoCAD SHX Text
P 1/4X3X0'-9 3/4"

AutoCAD SHX Text
L

AutoCAD SHX Text
BENCH TOP

AutoCAD SHX Text
BENCH LEG

AutoCAD SHX Text
3/8" LEVELING PEDESTAL (PROVIDED)

AutoCAD SHX Text
3/8" THREADED INSERT

AutoCAD SHX Text
PLATE REBAR

AutoCAD SHX Text
LEG PLATE

AutoCAD SHX Text
3/8" THREADED INSERTS

AutoCAD SHX Text
3/8" BOLT

AutoCAD SHX Text
WASHERS AS NEEDED


	Sheets and Views
	PLATE AND INSTALL

	48 Cimarron Bench (BCIM48)-PLAN AND ELEVATION.pdf
	Sheets and Views
	PLAN AND ELEVATION



